Test Booklet Code & Serial No.

YYTqTSTehT hIE o U B

Paper-III
GEOGRAPHY

Signature and Name of Invigilator

1. (Signature) .....ccccceevvvvvvvvvieeeeeeeeeeeeeeenen.

APR - 36317

Time Allowed : 22 Hours]

OMR Sheet No.

Seat No.

(In figures as in Admit Card)

SEALINO. cevveeeeeeeeeeeeeeee ettt e e s

(In words)

(To be filled by the Candidate)
[Maximum Marks : 150

Number of Pages in this Booklet : 40

Number of Questions in this Booklet : 75

10.

12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 75 objective type questions. Each question

will carry two marks. All questions of Paper-III will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(@ii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO,

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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GEOGRAPHY
Paper 111

A
gyAutreRt 111
Time Allowed : 2% Hours] [Maximum Marks : 150
Note : This paper contains Seventy Five (75) multiple choice questions. Each
question carrying Two (2) marks. Attempt All questions.
AT : A1 GRAUAh THY Ueew (75) Jgaarl v ol oTRd. Woid Jeen g (2)
O STed. WE WRA W

L zone has depth below | 1. e qQ7 &= @il 6000 T
6000 meters. el 3T,
(A) Littoral (A) HFRACH
(B) Benthic (B) frerea
(C) Hadal (C) ®%=d
(D) Abyssal (D) ST
2. Several species of mollusca are | 2. TR HgehTd TSIl 1 HHgId
grouped into .................... community. T Hhedl S,
(A) Benthos (A) s
(B) Nekton (B) d&=fH
(C) Pleuston (C) =I=M[
(D) Neuston (D) =M
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In a species-area relationship :

(A)

(B)

©)

(D)

The number of species in an
area of habitat increases as the

area of that habitat increases

The number of species in a
sample increases as the area
covered by that sample

increases

The type of species observed in
a habitat alters as the area of

habitat alters

Species diversity increases

linearly with island size

The statement that the fundamental

theory is only rejected when a new

theory is put forward that is believed

to be superior was advocated by :

(A)
(B)
©)

(D)

Karl Popper
Kuhn
James Hutton

Harvey
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Which of the following is not a

correct match ?
(A) Environmentalism : O’'Riordan
(B) Third space : Soja

(C) Agricultural origins and
dispersal : Sayer

(D) Innovation diffusion as a spatial

process : Hégerstrand

Who coined the term ‘delta’ for
triangular deposition at the mouth

of river ?

(A) Eratosthenis
(B) Herodotus
(C) Ptolemy

(D) Davis

Wolpert’s works are on :
(A) Economic Man

(B) Satisfying Model
(C) Hazard Perception

(D) Mental Maps

5.
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WA RO SISl 9rg e ?
(A) TIERuER ;3 ReAred

(B) famx =Afvyss @ 9mn

(C) T8t I d faerm : TR

(D) Tifor=qul Tiem=n Y9R E TH
e wiehan @ TS
ST RN SO TR UTahdl! Serarare!
‘S’ € Ha waeH Hl Areat ?

(A) 3Lt
(B) feliereH
(C) fert

(D) <=™

(A) THER HEE

(B) 9HIEMdY UreY

(C) oMY= Sfofd

(D) HHMEEH THTE
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The concept of geography as a
chorological science of the individual
case was not tenable because it built
on the assumption of absolute space

was advocated by :

(A) Hartshorne

(B) Haggett

(C) Harvey

(D) Taylor

Which one of the following books is

not authored by Mackinder ?

(A) Great Britain-Essays in

Regional Geography

(B) The Geographical Pivot of

History

(C) Britain and British Seas

(D) Democratic Ideas and Reality
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(B) g
(C) =

(D) TR
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fafeerer - ?
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(B) T foeiufrea fuee e fe=t
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10.

11.

12.

“No vestiage of Beginning and No

prospects of an end.” This was stated

[0) /2N UOT .

(A) James Hutton
(B) James Dana
(C) Charles Lewyll
(D) Griffith Taylor

A continuous belt of urban population
progressively linking several cities is

known as :

(A) Metropolis
(B) Technopolis
(C) Conurbation
(D) Ecumenopolis

The second largest metroplitan (as

per 2011 census) iS ................ .
(A) Kolkata
(B) Chennai
(C) Mumbai

(D) Delhi

10.

11.

12.
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" garden uftfterd=n A AR fRa
HArn even TR ® faum i
Hat ?

(A) S= gHA

(B) SFF T

(C) =rei wferd

(D) fuwiy Zer

I TehgEarEl Fel Ugl Sl JRTa-

witc fafay U Sedr Sl <™

(A) HEM

(B) TR

(C) fqHerfuRies TR

(D) Afvaen fomar STHUR HTeqfTah I

2011 =1 SVHIER SEAT HHER
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13. Match the following :
Name
(1) Nelson
(2) Duncan and Reiss
(3) Johnwebb and Maxwell
(4) Moser and Scott
Method/Technique

(@) Quartile
(b) Standard Deviation
(¢) Multivariate
(d) Percentage and Mean

Which of the following is correct

sequence ?

1 @2 @ @
A b) (@ (@ (©
B) @ B) © @
©C) @ @© b)) (@

D) © @ @ ©)
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13. I el S

dq
(1) egd
(2) THT 9 Y

-~

(3) Sioe o Heddd

(4) WER 9 Whie
gert/as

(@) =g

(b) wefora ot

(c) wgaca
(d) TFHaA 9 GUad

TTeAedeh! IV HH IRT AR ?
1 @ 6 @

A ) @ @@ (©

B) (@ @) (© ()

C d © b (@

D) ) @ (a) (®)




14.

15.

Due to climate change, forced

migration will be prominently seen

amongst ........occeeernnnnn. group of
farmers

(A) Small cultivators

(B) Marginalised agricultural

labourers

(C) Large farm owners
(D) (A) and (B)

Which of the following will not be
the salient feature of progressive

population pyramid ?
(A) High fertility rate

(B) High proportion of population in

children age group

©)

Second stage of demographic

transition theory

(D) Disproportion of males to female

14.

15.
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AT SCaTes, HeRiT= TR &

(A) &M IRl

(B) ol TAHSR

(C) HIS Traehil

(D) (A) 3o (B)

Tt IV UFTfdh aArehaearey’

o Josh AT ATE ?

(A) 3= S

(B) ITASENTE AR STaqdI]

(C) cirehEEd Hehuv gyt gad

ST

(D) geur fommh srErayHE
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16.

17.

In the context of population nexus

resources, who popularised the

concept of “optimum population” ?

(A) William Bunge

(B) Robbins, Carr-Saunders and

Dalton

(C) Patrick Geddes

(D) Robert Malthus

Wet point rural settlements are

commonly found ................... .

(A) Near the source of water supply

(B) In marshes and swamps

(C) In deserts

(D) At any place

16.

17.
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AREEA HEe HETEE Heid T
AREEA’ A Fehedddl Hv TR
el ?

(A) faeg sm

(B) Ufag, sR-Tied 9 <l

(C) e TEE™

(D) U HAlcod

(A) Uit qRES GrATedes
(B) TR 9 UMY LSO
(C) dIae &3

(D) =IvrcErgl faamToft
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18.

Which country adopted 4 : 2 : 1

formula in its population policy ?

(A) Brazil

(B) India

(C) China

(D) South Africa

18.
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TICHTeTIhT IV T9M 4 : 2 : 18 A

TREEd YRV WU 3ffed Hhal ?

(A) e

(B) ¥Rd

(C) =

(D) Tfeqor sTfthRent

19. Which of the following grassland | 19. 3TSifedId, WeiicTUsh! SV TTeidies YeST
regions of Argentina is known for S S IR e
commercial grazing activities ?

(A) ™=
(A) Llanos

(B) ¥Hegrl
(B) Savannah

(C) HH™
(C) Campos
(D) El Gran Chako (D) T A S

11 [P.T.O.



20. Industry (List I) and their associated

location (List II) are given below.

Match the List I with List II and
choose the correct answer from the

codes given below :
List 1

(Industry)

(@) IISCO

b)

(c)

d)

NALCO

BALCO

HSL
List II
(Location)

(Z7) Kobra

(i)

(ii2)

(iv)

Codes :

@ ()

Burnpur
Koraput
Rourkela

© ()

A @) @)
(B) @) (i)
(C) @) Gv)
D) Gv) @)

() Gu)
@ (@)
@ @
() (@)

APR - 36317/111—B

20. UM (T 1) 9 reRn ffeq om

(F= ID) feeret e

T 19 T 11 AT Siredn Sjeedd @t
feeiean Heharqa g W feer
Tt 1
(=)
(@) IISCO
(b) NALCO
(¢c) BALCO
(d) HSL
Tt 10
(¥arm)
(@) e
(@) TR
(iif) Y
(fv) TSTehedl
Hehdich :
(@) (®)

(e @

A @ @)
B) @) @)
(C) i) (o)
D) @) @)

@Gv) (@)
@ (o)
@ @
() (@)

12
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21. Nangal, Namrup, Gorakhpur and | 21. e, IM®Y, TRER d A9el
Neyveli are associated with location | =~ ST Gefyd T
Of v, industry R
(A) Paper and Pulp (A) FE o <l
(B) Chemical Fertilizer (B) THME(h T
(C) Cotton Textile (C) Hfrehroe
(D) Copper (D) T
22, e is not included as fixed | 22. T =1 ffv=d aeqe =i
transport cost.
T B ATE.
(A) Infrastructure cost
(A) drEnyE giaen e
(B) Terminal cost
(B) M T
(C) Servicing and maintenance cost
(C) §am ° LCEc
(D) Administrative and managerial
staff cost (D) WEHE o HaRAThd B
13 [P.T.O.



24.

25.

has the world’s longest

......................

railway network.

(A) United States of America
(B) China

(C) Russia

(D) Germany

Which of the following is not an

example of cultural region ?
(A) Agricultural region

(B) Linguistic region

(C) Pedological region

(D) Industrial region

is the pioneer in using

the empirical technique for the

delimitation of agricultural regions.
(A) Baker

(B) Hartshorne

(C) Dicken

(D) Joe

24.

25.
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TTATTIehT I SETeLTT Tk deh Houma
T ?

(A) Tl wewm

(B) wIforeh wawT

(C) H&T gom

(D) SirEnfsh wew
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26.

27.

28.

As per Aristotle’s model of ideal

state, the strength of state lies in :
(A) Nature of territory

(B) Territory and ruler

(C) Size of population

(D) Nature of territory and size of
population

Identify the incorrect match :

(A) Meenas : Rajasthan

(B) Santhals : Jharkhand

(C) Bodos : West Bengal

(D) Adis : Arunachal Pradesh

Who is known for his studies of

house types in India ?
(A) A. B. Mukerji

(B) A. Ahmad

(C) G. S. Gosal

(D) R. L. Singh

APR - 36317/111—B

26. Ii=red=n Ry TS YiAAEER,

(C) AhIEd SThIHT

(D) YUREE &Y A drpae

SAThTHTA

27. Sahret Sl @

(A) Hiom : TS
(B) 99@ : FRES
(C) =rer : ufy=m s
(D) TR : TEUEA TS

28. WIAYeh! IV, YRATASA T FhRI

FAWEER WA @@ Il .

(A) T . qgEsi
(B) W 318HQ
(C) <. TH. =

(D) R. w@. &

15
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29.

30.

31.

Find the odd pilgrimage centre out

of the following :

(A) Deoghar

(B) Kashi/Varanasi

(C) Pushkar

(D) Ujjain

Which religion is not included in the

oriental cultural realm ?
(A) Hinduism

(B) Confucianism

(C) Taoism

(D) Buddhism

Kibbutz, a communal form of land

tenure is ..........c...... .
(A) Chinese

(B) Israeli

(C) Polish

(D) Hungarian

29.

30.

31.

APR - 36317/111—B

@il AEEARUeh! STTed $Ues hIvd o

e
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32.

33.

As per Sauer’s model, cultural
landscape is created through which

of the following ?

(A) Culture, Climate and Time

(B)

Climate, Natural Landscape

and Time

(©)

Culture, Natural Landscape

and Time

(D) Climate, Cultural and Natural

Landscape

‘Diaspora’ has been initially used to

refer the dispersal of .................. .

(A) Buddhists

(B) Christians

(C) Jews

(D) Muslims

32.

33.

APR - 36317/111—B

AT YIRUER, HRehiash  YgearEl

fafddt wreiietet womgR Ba ?

(A) TEhdl, UM 9 Hles

(B) ™M, @fis 4Yged 9 &

(C) T&Fdl, HHfilh Yg¥a 9 FB

(D) TaHH, HiEhias o A9fifs qgwa

17
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34. Arrange the following watershed

35.

units from lower order to higher

order :
(1) The river basin
(2) Tributary basin

Sub-basin of a stream

3)

Watershed of a stream of lower

(4)

order
A) @), 3), (2), (1)
(B) (4), (3), (1), (2)
(C) (1), (2), (3), (4)
D) (1), (3), (2), (4)

.............. criteria cannot be a common
characteristic of homogeneity across

different regions.

(A) Economic activity
(B) Culture

(C) Soil

(D) Political unit

APR - 36317/111—B

34. TIEd TUTele & The I

35.

ITAHATRS  AMISd &

(1) =< @R

(2) ST @R

(3) JaR™ 3SUER

(4) HH LU YaE UUER &F

A) (4), (3), (2), (1)

(B) (4), 3), (1), (2)

©) (D), (@), 3), (4)

(D) (1), (3), (2), (4)

TehISHEIqaTed GaaTeRor o erses
T,

INBEIRERER
(B) Tt

(C) ¥ga1
(D) USThid Uaheh
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.................... represents the last stage

of planning, according to Glasson.

(A) Provision of a continuous

evaluation of the implementation

programme

(B) Projection of the future
situation

(C) Production of a preferred plan

with policy statement

(D) Formulation of general goals
and specific measurable objective

relating to the problem

APR - 36317/111—B

36. TAEA A=Al m el
BRISEICIIRE C A (I I
(A) STHAISITEUN Sheledl ASTd HIde

HeIA 0= 372

(B) wforszentei afifterdi= siers adfan

(C) HRucHeh faemTes TEdi= ARES]
IR S0

(D) F9E=A1 O faferse wro 7
a9 HeHERY SEE 7Sl w0

37. Statements : 37. fgam .
(1) Budget 1is an allocative . N
g. (1) NS T aredd HaeH 3Te.
planning.

(2) Integrated watershed (2) oA ToTEe & o @
development is a multiple level SgUesd s 3.
planning. Eeterdst siva faum/fauam o

Which of the statements given above a2

is/are correct ?

(A) &K (1)

(A) Only (1)

(B) Only (2) (B) 4 (2)

(C) Both (1) and (2) (©) (1) = (2) =

(D) Neither (1) nor (2) D) (1) g (2) Yl FIvE AT

19 [P.T.O.



38. Which of the following is not

39.

included in the list of “smart city”
in the Maharashtra, declared by
Government of India as on Oct.

2016 ?

(A) Pune

(B) Nasik

(C) Solapur

(D) Kolhapur

“Twenty Point Programme” was

launched in the year .................. .

(A) 1969

(B) 1975

(C) 1977

(D) 1980

38. ek 2016 TIHd SMHATE

39.
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SHES

Hoedl HERTA ‘T fadt’ =

qEHEY  WToilaTdeh!  hITCAT IR

THEY AT ?

(A) 90

(B) TIf¥Th

(C) Hremp

(D) hITBIYL

"SI SmeAHT A

el B

(A) 1969

(B) 1975

(C) 1977

(D) 1980
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40. Which Five Year Plan focused on

41.

42.

“Growth with social justice and

equity” ?

(A) Ninth Five Year Plan

(B) Eighth Five Year Plan

(C) Seventh Five Year Plan

(D) Sixth Five Year Plan
Agricultural region is a ................ .
(A) Homogeneous

(B) Natural

(C) Functional

(D) Nodal

Which of the following cities has the
highest population growth rate
during 2001-2011 ?

(A) Mumbai
(B) Bangluru
(C) Pune

(D) Delhi

40. <RI GIATSH

41.

42.

APR - 36317/111—B

ISEIREs IS E G|
FHMAER A o1’ e shigd sl ?

faXd ha

(A) 9dt Y=Etieh

4
=

o N

(B) §< U=aftieh

(C) 791 Y=artier JISHT

(D) 6t Y=atieh

(A) THISE!
(B) “Hfifs®
(C) mfcHe
(D) s

2001 9 2011 TN ETeiieTdeh] ol

AT AR EEA gt &L Hellfeeh el ?
(A) g
(B) IE

(C) qui
(D) feeet

21
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43.

44.

Which of the following regions in
India is not covered by wet

evergreen forest ?

(A) Terai Region of Eastern

Himalaya

(B) Western Slope of Western Ghats

(C) Islands of Andaman and

Nicobar

(D) Northern Slope of Eastern

Ghats

projects aiming development

of the economy of small and

marginal farmers in India.

(A) Eradication of Poverty

(B) SFDA and MFAL

(C) Eradication of Caste System

(D) Twenty Point Programme

43.

-+

APR - 36317/111—B

EATeTdeh! TRl ShIoeal YeITd 318

TR a9 3Teed ATet ?

(A) 9d Terre@m=n TWE e

(B) Uf¥=M e Ui¥=Hgherd 3aiier

(C) 3eqH 9 Ao a2

(D) 9d Hea IWEHSTA AR

TR TIHIA & STeqYHN SIaeh-ar=l

el faenm SErserEme

JHE Uehod  Ted.

(A) TRea e

(B) SFDA 7ot MFAL

(C) St e

(D) &9 ot sHrdshy
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45.

46.

47.

Which of the following states is

having least GDP growth as per

2011 census ?
(A) Bihar

(B) Maharashtra
(C) West Bengal
(D) Tamil Nadu

Which three rivers are considered to

have been captured streams ?
(A) Girna, Panjra, Bori

(B) Manjara, Dudhana, Girna
(C) Manjara, Girna, Seena
(D) Girna, Dudhana, Bori

Which year is called a ‘Great Divide’
in the demographic history of

India ?

(A) 1901
(B) 1921
(C) 1941

(D) 1951

45.

46.

47.

APR - 36317/111—B

2011 STOFTUATER  ©ITceTdeh! hToTe

Tt GDP ggt &t 3g ?
(A) TR
(B) HeNIsg

(C) ufy=m e

(D) dfHesTre

WTATAUsh] ShIve b T2 9 3T

AR 3 AFA W ?
(A) firom, aiew, SR
(B) wre, o, fiom
(C) e, fiwom, €
(D) Tom, gem, =it

WA AR HTEHH I SAerTd hiued

Iug e fause aesa ?
(A) 1901
(B) 1921
(C) 1941

(D) 1951
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48. Assertion (A) :

The eastern coast of India is affected
by the tropical cyclones more than

the western Coast.
Reason (R) :

Bay of Bengal is under the influence
of easterlies in later period of the

year.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) true and (R)

is the correct explanation of (A)

(B) Both (A) and (R) true but (R)

is not the correct explanation

of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

APR - 36317/111—B

gfaared (A)

I 9ol fRTRagiany 3w wicaefy
Tehidlcardl U= fRARYgae S
o gl

T (R) :

ST SUHTRIET 9T Yelta s

FYERETe 379l
WA TiehdiehTdeht Iy faehey ferer .
Hehdish :

-~

(A) (A) T (R) Sl TSR Ted AT

(R) T (A) ¥ T IR 3T

~

(B) (A) @ (R) TI! SR 2Ted W (R)

T (A) T TH TISEHRIU AR

(C) (A) SR R W (R) ¥ I%
Y

D) (A) T I 38 Wg (R) T SR
3y
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49. Which of the following statements is

50.

not right with reference to geocentric

satellite ?

(A) These are placed around

36,000 km

(B) They continuously observe one

and the same area

(C) These are polar orbiting

satellites

(D) They are stationary but not

static

The panchromatic sensors in IRS-
1C and 1D satellites has a ground

resolution of .......ccccco....... meters.

(A) 5
(B) 2.5
(C) 23

(D) 32

49.

50.

APR - 36317/111—B

ThEd ISTREGHA Teierden] U

IECIEEC NI |r

(A) THAR 36,000 foF. . 3TaRTeR Tenfua
STHATd

(B) 1 Ad™ geEad T Wi

Tritero e

(C) T gaa wadia 3T 3ed

(D) & fEeR oTRa Uu sTEd AR

M. AN TH.—1C 3707 1D =1 SYURr=a

stferd 1 Hagahr & fases
HieT ..

(A) 5

(B) 2.5

(C) 23

(D) 32
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51.

52.

Relative relief means ................. .

(A) Difference between elevations at

two adjacent places

(B) Elevation with reference to the

mean sea level

(C) The distance between the top

and bottom of the features

(D) The level with respect to

benchmark

Whatever be the value of observed
score the mean of their deviation
scores will always be equal

/(o YOS .

(A) Less than zero

(B) More than zero

(C) Equal to observed mean

(D) Zero

APR - 36317/111—B

(A) T <9 fewmndia S=idia &k

(B) TUEI 95 HURAT ¥ 3=

(C) Y& I=a S0 qor=A1 dedldiel

(D) SHTh=A HEWH STHe] UTdest

52. eI TRl SRRl oot ST a1 =T

forarer Hearet qUel "gH!

4.
(A) S[Tae S

(B) I[=TaE S

(C) Tiermn gear=n §UEl sas!

D) A
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53. Match the following :

(@)

(b)

(c)

d)

(1)

(2)

(3)

(4)

Information Collected
Mother tongue of people
Ranks of students

Salary difference of employees
Density of population

Levels of Measurement
Ratio

Nominal

Ordinal

Interval

Which one of the following is the

correct sequence of the pairs ?

A @

(B) (2)

©) @)

(D) (4)

@ & (© @

2 3 @

3 @ @

@ @ @

2 G @

(@)

b)

(c)

(d)

(1)

(2)

(3)

(4)

APR - 36317/111—B

53. el @mEl

- fet
TAhTET FTGHTST
faeneat<t gof

R E=Al Il Thich

ATREEAT ST
rfgar &1

AHHATA

Th{ch[cHh

A) 1)

(B) @)

©

(D) )

TeTeTeh! SiTSaTaT IVl STHH SRis

e ?

(@ ) @ @

2 3 @

@ @ @

3 @ @

2 3 @
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54.

55.

A map showing the parcels of land

with their sequential numbers is an

example of ................... .

(A) Thematic map

(B) Political map

(C) Topographic map

(D) Cardastral map

Which of the following scales does

not use units of measurement ?

(A) Graphical scale

(B) R. F.

(C) Verbal scale

(D) Time scale

54.

55.

APR - 36317/111—B

o0

ST qhe AT 3TIHH AT

THET B

(A) S HTE

(B) USehig el

(C) TUACIih ThmI

(D) HicThigash TehTSl

EATeTUeh! ShIOCAT TeRTSM YHIUNG HITH

TehehTal oY hedl Sd HATa ?

(A)

(B) R. F. wifdferes 31quiieh

(C) TTsgYHTIT

(D) TcT9HTI
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56. Which of the following is an example

57.

of low grade metamorphism ?
(A) Marble

(B) Gneiss

(C) Slate

(D) Quartzite

Which of the following landforms is

not found in Karstic Landscape ?

APR - 36317/111—B

56. WATIUehl hIvd ShHICSI=aT SO

57.

SR S 7

(A) TR

(B) g

(C) we

(D) e

GeTeueh! HIU 8T HE TIAEI

Aeeed A&l ?

(A) Dolines (A) Sl
(B) Sinkholes (B) faerad faer
(C) Stalactite/Stalagmite (C) a9 &Y
(D) Stake (D) %
58. ‘Talus’are ........cccceeuueeee. . 58. ‘dIgH’ WU

(A) Hills as end product of erosion (A) STIRRUT= A Scae-Tr=a TerTe
(B) Heaps of material at the base HeT

of cliffs (B) Hedr=l YHeAThSd TeIgE &l
(C) Weathering products (C) 3T9&mErd 3R
(D) Riverine sand dunes (D) RIS ATHI]
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59.

60.

Which of the following is not a

characteristic of humid tropical

landscape ?

(A) Deep weathering profile

(B) Intense leaching

(C) Towering Inselberg

(D) Inselberg

The concept of morphogenetic region

was put forth by .................... .

(A) Peltier

(B) Derbyshire

(C) Budel

(D) Darlymple

59.

60.

APR - 36317/111—B

ETeTAdh] SHITAT THS SOUTh{ES &

qgEAT TOTEH A ?

(A) TAe=T STUemET=l aTfyaent

(B) g femem

(C) ™ grafRl

(D) SRR

(A) TSI

(B) TSR

(C) g

(D) Sifci e
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61. Which plate is the principal cause | 1. @ciicTish! HIVA YU FES Taar
for Andes Mountain ? fHfdd= o s ?
(A) The Nazca Plate (A) Ti=tepT 92
(B) Juan de Fuca Plate (B) 3Tl a1 UL
(C) The N. American Plate (C) SR T yuee
(D) The Caribbean Plate (D) HUS e
62. Arrange the following types of | 62. Tl fedwa Tt Sefiersn, =
riverine load in ascending order in TETEIS Ted] qSum=a en;IjHl{ TedlshH
terms of energy expended in the P
process :
(1) frefer
(1) Suspension
(2) Saltation @)
(3) Bed load (3) T
(4) Wash load (4) T
Which of the following is the correct T o] CRER SR TR 2
sequence ?
(A) (4), (1), (2), (3)
A) 4), (1), (2), (3)
(B) (1), (2), (3), (4)
(B) (1), (2), (3), (4)
C) @), (2), 3), (1) C) (1), (2), (3), (1)
D) 3), (2), (4), (1) D) 3), (2), (4), (1)
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63. Match the following : 63. e ol

Concepts HhegdT

(@) Cycle of erosion (@) 3TUERU dTh

(b) Antecedence of drainage (b) ST Yot

(¢) Geosyncline (c) Szroit

(d) Sea floor spreading (d) Irad Tosro
Scholars I THh

(1) Maj. Powell (1) ¥R urad

(2) W. M. Davis 2) == . fwd

(3) Hess 3) 7@

(4) Dana (4) <

Which of the following is the correct ETeAeTdeh! SIS IVl ST SIeR

sequence of the pairs ? R ?

@ & (@© (@ (@ () () (@
@“ O @ 6 @ @a @O 2 6 @
B @2 O @ B B @2 O @ 3
© 3 @ O @ © B3 @ O @
D 4 3 @ @ D @ B3 @ @
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64. The variability of monsoon rain is | g4. A=A TS 9aiferes go=eierd
highest over ................... s JY  3MS5d.
(A) North East India (A) 3IMF 9RA
(B) Central India (B) AYF 9d
(C) North West India (C) sm&ed ud
(D) Eastern India D) @ o
65. Assertion (A) : 65. Wiaued (A) :
Ozone above about 30 km causes net Hremorqur 30 foRH= X SOy ST
decrease of surface temperature. I3 qraHME ede ¥ HIvaT™
Reason (R) : EFIIU“‘*E 3Ll
Ozone above about 30 km absorbs 4RUT (R)
relatively more incoming shortwave HIEROTT 30 FRTi=an aX STHUIRT g
radiation causing a net decrease of U oY e RO S S
surface temperatures. oo weEr g W AT T
Select the correct answer from the Bld.
codes given below : e e
Hodes ; (A) (A) 9 (R) I R eea anfn
(A) Both (A) and (R) are true and (R) ® (A) = 3TH TSR0 3T
(R) is correct explanation of (A) B) (A) T (R) S SR 3 ‘T{—gf, R)
(R) 1s not the correct .
. (C) (A) B allsR 38 g (R) § I
explanation of (A) -
(C) (A) is true and (R) is false .
(D) (A) 8 =% 3R g (R) ¥ N
(D) (A) is false but (R) is true M
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66. Which of the following is not a

66. WICdeh! HITAl UGS o IS0

difference between temperate and

tropical cyclones ?

(A) Temperate cyclones are larger

than tropical cyclones

(B) Temperate cyclones have
asymmetric arrangement of
isobars in comparison to
circular in case of tropical

cyclone

(C) Temperate cyclones form over
continents and oceans while

tropical cyclones form only over

ocean

(D) The precipitation in temperate
cyclone is in the form of snow

while in tropical cyclones it is

in the form of rain

Fieae T STedidid Hich HTar ?

(A) TUIMQISU hicaetg Aed § SO0

HicaLg Aediden Hie STa

(B) S shicaei Aradidiet GHUR T

IR AISUI=AT garid FHeiars

hieaL T STEdid o TTHE 3THd

(C) wHefdrs Swicaea stad qee o

HeErRER o g @ S
e sTad JEeEr v g

(D) HHINArSo shfdseia STedid oo &t

e a8 S0 ety Amedia

TS eI 8
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67 Wthh factor dOGS not affect the 67 WWW i:;m{u“q.{ °|'1\|U|\'|| gch
distribution of insolation ? 5 e
(A) Angle of sun rays )
(A) @ fRTom=n &
(B) Length of the day
(B) feagrt ast
(C) Distance between the earth and
(C) gt 9 I Adia T
sun
e (D) S g o T faao
(D) Distribution of land and water
68. Which of the following factors does 68. IETIeRT IV Hesh Srsdie fraf
not control evaporation ? I A ?
(A) Moisture content of the air (A) TAAA TS 3T
(B) Temperature of the air (B) %o dM9HM
(C) Sublimation (C) Twtad
(D) Movement of the air (D) Tl g
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69.

70.

71.

The heat transferred directly by the
rising and mixing of warmed air is

termed as ........ccoeeueeeeen. .
(A) Sensible heat

(B) Latent heat

(C) Specific heat

(D) Temperature

As per the Koeppen’s climatic

classification the Savanna is

represented by which of the

following letters ?
(A) Bs
(B) Aw
(C) As
(D) Am

Which one of the following is not a

cold current ?
(A) Peru current
(B) Kamchatka current

(C) Falkland current

(D) Brazil current

69.

70.

71.

APR - 36317/111—B

SEEUA o IER g RS 92

wmm ................... 33@
TR

(A) Gog SO

(B) g@ SOl

(C) faferse Isorarm

(D) dmIHEA

WTATTUeh! hIvTT 78R HIUT=AT gaTHH
TR UMIER ‘Feer' @ gfatfer
(A) Bs

(B) Aw

(C) As

(D) Am

TeAeteh! ShIvd Tk IMd YaTg ATar ?

(A) T YAB

(B) HTHEhT e

(C) WIchole YaTg

(D) S JaTg
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72.

Arrange the following in correct
order from high moisture to low
moisture region and choose the

correct option ?

(I) Scrub Savanna
(II) Desert Savanna
(ITII)Woodland Savanna
(IV) Grassland Savanna
A) (D, dD, (I, (IV)
(B) (11D, (IV), (D), (II)
(C) (IV), dII), D), (I

(D) dD, (D), (), IV)

72.

APR - 36317/I111—B
Wetlel YT S=a 3ear O e stk
TRV SR AT WU Y 9 A fohed
IEEEINE

I) TS w&e

(II) SMeeadl &&ad

(IID) TSy Feaer
(IV) Uil &&a

A) (D, D), (IID), (IV)
(B) (IID), (IV), (I, (ID
(C) (AV), ID), (I1), (D)

(D) dD, @), A1), IV)

73. The height of ocean wave increases 73. WA @l S Aed S Sew @
when they travel ................... N AT =h .
(A) in deep sea (A) Tl FHgIa
(B) in shallow sea (B) 3¥Ues HHSIA
(C) during high tide time (C) WA= oedt
(D) during low tide time (D) 3TEIE=a dodt
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74.

75.

Change in species composition is

referred to as :

(A) Species turnover
(B) Species substitution
(C) Species exchange

(D) Species changeover

Species richness tends to decrease
with increasing altitude. Which of
the following is an exception for this

rule ?

(A) Higher-altitude areas tend to
be younger, in evolutionary

term

(B) Higher-altitude areas tend to

occupy relatively small areas

(C) Productivity declines with

altitude

(D) Higher-altitude habitats tend to

be isolated from one another

74.

75.

APR - 36317/111—B

fa

(1 dqedid

PRI TCE
Tl S
(A) YSTHETE Semerd
(B) WS T4

(C) TSI Agersigel
(D) YSIHeE T s

STEd ST ST THR JSI AT Tt

HH BId ST A1 FEE SeiierUeh! shivr

qaE Al ?

(A) Schidr=aT HewH 39 Yesig & &

MM T80l A

(B) 39 WIE &5 HEMN hH &

qrdrd

(C) IHIER SRS AT HHT B

(D) 39 YT 3ifeems ThHARaA

AT TRTOAT= TIS T
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ROUGH WORK
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